10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

6+06=
4 +2=
45 + 9 =
24 + 12 =
10+1=
1+1=
8+4-=
45 +5 =
4+1=
36 + 12 =
20+ 10 =
66 ~ 11 =
3+3=
72 +6=
120 + 12 =
54 +9 =
96 + 12 =
8+1=
100 + 10 =
110 + 11 =
99 + 11 =
70 +10 =
70+7=
11+1=
66 + 11 =

28.

29.

30.

31.

32.

33.

34.

Name: Date:
Teacher: Class:
Division 610

8+8=
18 +9 =
9+3=
80 +8=
30+5=
44 + 11 =
32 +4 =
10+ 2 =
5+5=
11 +11=
21 +7 =
63 +9 =
28 +4 =
32+8=
88 + 11 =
10+ 10 =
120 + 10 =
7+1=
8+2=
110 + 10 =
50 + 10 =
56 +7 =
108 + 12 =
18 +6 =
72 +12 =

51.

52.

53.

54.

55.

56.

57.

58.

59.

61.

62.

63.

64.

65.

66.

Divide these numbers.

36 +9 =
90 + 9 =
2+1=
4 -4 =
2+2=
55+ 11 =
48 + 12 =
96 + 8 =
60 + 5 =
3+-1=
6+-1=
90 + 10 =
12 + 4 =
33+11 =
77+ 7=
88 +8 =
56 + 8 =
121 + 11 =
99 +9 =
44 + 4 =
55 +5 =
36 +6 =
30 +10 =
5+1=
12 +12 =

Nothing ever seems interesting when it belongs to you -
only when it doesn't. - Natalie Babbitt, "Tuck Everlasting'

% 7 +7=
742 +6=
8 35+5=
9 27+3=
8. 10+5=
8. 22+2=
82. g+3=
8. 77 +11=
84 24 +8 =
8 3+7=
8. 60+ 12=
8. 12+2=
8. 84 +12=
89. 9g+9Q=
0. 144 + 12 =
. 24 +2=
2. 40+ 4=
B f+2=
% 60+6 =
% 64+8=
%. 24 +4=
. 12+3=
%. 60+ 10 =
9. 72+9=

100. 40 = 5 =

© Facilitators Ferriswheel

WS#:Div610

Score:



Answer Key Date:
Teacher: Class:
Division 610

Divide these numbers.

Nothing ever seems interesting when it belongs to you -
only when it doesn't. - Natalie Babbitt, "Tuck Everlasting'

L. 6+6=1 6. 8+8=1 5. 36+9=4 6 7+7=1
2. 4+2=2 2. 18+9=2 2. 90+9=10 42 +-6=7
3. 45+9=075 8. 9+3=3 8. 2+1=2 8. 35+5=7
4. 24 +12= 2 2. 80+8=10 Mo 4+4=1 P 27+3=9
5> 10+1=10 0. 30+5=6 % 2+2=1 80. 10+5=2
6. 1+1=1 3. 44+11=4 %6 55:11=5 8. 22:2=11
7 8+4=2 3. 32+4=8 . 48+12=4 8 6+3=2
8. 45-5=09 3. 10+2=75 58. 96 +~8= 12 8. 77 +11=7
% 4+1=4 #. 5+5=1 5. 0+5=12 8 24+8=3
0 36+12=3 % 11+11=1 © 3:1=3 & 35:7=5
h20+10=2 36 21+7=3 6. 6+1=6 8. 60+12=5
12 66+11=6 3. g3+9=7 6 90+10=9 8. 12:2=6
3.3+3=1 % 28+4=7 6. 12+4=3 8. 84 +12=7
4. 72+6=12 3 32:8=4 6 33:+11=3 8 9:9=1
15 120+12=10 40 88+11=8 6 77+7=11 9 144+12= 12
' 54+9=6 4 10+10=1 6 88+8=11 O 24+2=12
7. 96+12=8 4 120+10=12 6 56+8=7 2. 40 +4=10
8. 8+1=38 8. 7+1=7 68. 121+11=11 9% 6+2=3
190 100+ 10= 10 % g=+2= 4 © 99:9=11 % 60+6=10
20110+ 11=10 45 110+10= 11 7 44+4= 11 % 64+-8=38
2. . 99+11=9 6. 50+10=5 . B55+5=11 % 24+-4=06
22.70+10=7_ 4. 56+7=38 2. 36+6=6 9. 12+3=4
2. 70+7=10 8. 108+12=9 73 30+10=3 % 60+10=6
24.11+1=11 4 18+6=3 4 5+1=5 9. 72+9=28
25 66+11=6 0. 72+12=06 n?o12+12=1 100. 40 +5= 8
© Facilitators Ferriswheel WS#:Div610 Score:



